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Part A: Voca hulﬁ?}' and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheet.

1- There was widespread -----——- gver the plan, and the management had finally to revise it.
1) discontent 2) antithesis 3) interaction 4) emergence

2-  Many of the residents here are —-----—- of the original settlers emigrating to the area at the
end of the 18" century.

1) prototypes 2) derivatives 3) procedures 4) descendants

3-  The audience broke into ------—-— as the old singer slowly climbed the stairs.
1) tribute 2) applause 3) compliment 4) encouragement

4-  She -—---—-- him into handing over all his savings, and then ran away with all the money.
1) inclined 2) betrayed 3) deceived 4) conceived

5- High winds have -——e-meeev fire-fighters in their efforts to put out the blaze in the forest.
1) diverted 2) released 3) hindered 4) interfered

6- His mother ————--- - him for breaking the vase her mother had given her as a wedding gift.
1) scolded 2) clashed 3) disputed 4) quarreled

7- In the event of nosebleed, --——-—---—- the nostrils together between your thumb and finger to stop
the bleeding.
1) combine 2) pinch 3) prick 4) squeeze

8- I'd rather ---———— him leave than .
1) see, stay 2) see, to stay 3) 10 see, to stay 4) seeing, staying

9-  Don't let the baby play with your watch in case he —-—— it.
1) had broken 2) breaks 3) breaking 4) is broken

10- He wrote his diary in a secret language so that his wife - be able to read it.

1) couldn't 2) mustn't 3) oughtn't 4) wouldn't

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Particular concem is devoted throughout the country to the training and retraining of (11) -------,
particularly of those who have been out of work for (12) ---------- periods. Yet such provision has
been (13) -~=-eaeem- for not matching the real requirements (14) --------— the labour market, and thus
for (15) ---------- simply as a way of keeping the jobless occupied.

11- 1) unemployed 2) unemplioyment 3) the unemployed 4) the unemployment

12- 1) extending 2) extensive 3) extended 4) extensively

13- 1) critical 2) criticism 3) criticising 4) criticised

14- 1) of 2)to Ior 4) and

15- 1) using 2) being used 3) having used 4) having been used



oW ol (il )5 (990 3T (wnadii Colw g S puo

Part C, Reading Comprehension

Directions: Read the following passages and choose the best choice (1), (2), (3), or (4). Then
mark it on your answer sheet.

[talian merchants conducted a lucrative trade for centuries via the

Crimea in luxury goods from the Near East, as well as
agricultural products and slaves from the Eurasian steppe. The
[talian settlements in Crimea thrived on this trade. Contemporary
sources claim that the Genoese colony at Sudak in Crimea
became so prosperous that the Black Sea itself was referred to as
the "Sudakski Sea" in thirteenth-century documents, and the
Genoese colony of Kaffa was said to rival Genoa herself in
wealth. Some of the hundreds of Italian ships that carried out this
trade were undoubtedly lost along the Crimean coastline. Violent
winter storms and navigational hazards plague the area, but some
of the losses were through deliberate human action. Whether by
naval warfare or piracy, the Italian merchant empires had battled
one another for dominance in the Black Sea since the seventh
century when Arab invaders entered the Mediterranean, forcing
Europeans to seek alternative trade routes with the Near East.

Remains of a ship have been found in western part of the Sudak
Bay, near the Crimean resort town of Novy Svet. The shipwreck
site is located 50 meters offshore and at a depth of 10-12 meters.
The debris field extends over a 60 by 60 meter area of gravel-
sand sea floor covered with numerous fragments of ceramics.

16- Italian traders -—-—- --- trade for centuries through Crimea from the Near East.
1) performed serious 2) carried out profitable
3) organized well-paid 4) managed advantageous
17- According to the passage, Italian ships were lost along the coastline due to ~--—-—-- "
1) winter storms 2) navigational hazards
3) intentional human action 4) nature and planned human action
18- What does 'piracy' mean in line 137
1)Waging armed conflict 2) Robbery of vessels on the high seas
3) Battling one another for dominance 4)Both 1 & 3
19- In the seventh century, Arabs entered the Mediterranean and Europeans ---—--—--- trade routes
with the Near East.
1) had to search for different 2) might seek for different
3’ must search for other 4) could seek other
20- The --——--—- field extends over a 60 by 60 meter area of gravelsand sea floor covered with ---—--
----- fragments of ceramics.
1) trash, several 2) rubbish, sundry 3) wreck, abundant 4) waste, plentiful
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PASSAGE 2: ;
In 1706, Paul Lucas, traveling in southwest Turkey on a mission

for the court of Louis XIV, came upon the mountaintop ruins of
Sagalassos. The first Westerner to see the site, Lucas wrote that
he seemed to be confronted with remains of several cities
inhabited by fairies. Later, during the mid-nineteenth century,
William Hamilton described it as the best preserved ancient city
he had ever seen. Toward the end of that century, Sagalassos and
its theater became famous among students of classical antiquity.
Yet large scale excavations along the west coast at sites like
Ephesos and Pergamon, attracted all the attention. Gradually
Sagalassos was forgotten...until a British-Belgian team led by
Stephen Mitchell started surveying the site in 1985.

-Since 1990, Sagalassos has become a large-scale,
interdisciplinary excavation of the Catholic University of
Leuven, directed by Marc Waelkens. We are now exposing the
monumental city center and have completed, or nearly
completed, four major restoration projects there. We've also
undertaken an intensive urban and geophysical survey,
excavations in the domestic and industrial areas, and an intensive
survey of its vast territory. Whereas the former document a
thousand years of occupation, from Alexander the Great to the
seventh century, the latter has established the changing
settlement patterns, the vegetation history and farming practices,
the landscape formation and climatic changes during the last

10,000 years.
What does the passage mainly discuss?
1) Preserved ancient city 2) Ruins of Sagalassos
3) Ephesos and Pergamon 4) Cities inhabited by fairies
At the end of -—-—-— century, the site became famous among students of ----——--—,
1) twentieth, old age 2) eighteenth, great ages
3) nineteenth, early ages 4) seventeenth, classical age
What does 'serveying' mean in line 127
1) examining 2) measuring 3) planning 4) reviewing
The author and his the monumental city and have completed four —---—-- restoration
projects there.
1) coworkers are now endangering, main 2) colleagues are presently detecting, minor
3) coworkers are presently studying, chief 4) colleagues are now displaying, important
According to the passage, ———- document a thousand years of occupation and -———-—-— has
established the changing settlement patterns.
1) the urban servey, the geophysical survey 2) the geophysical servey, the urban survey
3) the domestic areas, the industrial areas 4) the industrial areas, the domestic areas
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PASSAGE 3:
The ancient sites of Iran were explored extensively by foreign

archaeologists before the Islamic revolution of 1979. The work
was surely advantageous; however, some Iranians were skeptical
of their activities, believing that their cultural heritage was being
looted to find a home outside the country - a sad experience that

led the Iranian to form joint Iranian and foreign archaeology
teams, in which the Iranian part worked as the watchdog to
guarantee that no artefacts were exported to the other side of the
borders, and no information was kept from the original
POSSESSOrs.

After the Islamic Revolution of 1979, the archaeological
activities and studies in Iran underwent a period of lethargy,
while the science was revolutionized at the end of the 50s all
around the world, creating a new domain called modemn
archaeology.

Today the world of archaeology is different from that of several
years ago; it is no more based solely on objects discovered, and
no archaeologist travels to some country just to bring home
artifacts, and no one keeps his gained information for himself.
Despite all, some Iranian officials and experts are still opposing
the presence of foreign teams in their country. Some base their
opposition on the fact that Iranians suffice the domain both in
number and expertise, and others bring up the same old fear of
the historical objects being looted.

Some Iranians —-------- are skeptical of the activities of foreign archaeologists.

1) before the revolution 2) after the revolution

3) during the revolution 4) before and after the revolution

What does 'looted' refer to in line 57

1) delivered 2) detached 3) plundered 4) slackened

The Iranian worked as ----—-- == t0 ==--=----- that no arfifacts were exported to the other side of
the border.

1) guardian, promise  2) guardian, ensure 3) inspector, promise  4) inspector, ensure
According to the second paragraph, after the revolution archaeology in Iran ---——-—-,

1) suffered a period of destruction 2) experienced a period of liveliness

3) suffered a stage of indifference 4) experienced a stage of agility

The author concludes that --—-—-- i

1) the foreigners are still looting historical objects

2) the Iranian suffice the domain both in number and expertise

3) the foreigners bring up the fear of the historical objects being looted.
4) the Iranian are still acting against the presence of foreign teams.
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